
Lösungen zum 35. Präsenzblatt für MfI 3

1. Aufgabe :

(a)

f(x, y) =
(

12xy + 3
6x2

)

∇× f(x, y) = (12x− 12x) ez

= 0

(b)

f(x, y) =
(

3x2y
x3

)

∇× f(x, y) =
(
3x2 − 3x2

)
ez

= 0

(c)

f(x, y) =




x + z
−y − z
x− y




∇× f(x, y) = (−1− (−1)) ex + (1− 1) ey + (0− 0) ez

= 0

2. Aufgabe :

Jacobi-Matrix : Jf =
(

∂fi

∂xj

)

i=1,...,m,j=1,...,n

=




∂f1
∂x1

∂f1
∂x2

· · · ∂f1
∂xn

∂f2
∂x1

∂f2
∂x2

· · · ∂f2
∂xn

...
...

...
∂fm

∂x1

∂fm

∂x2
· · · ∂fm

∂xn




det




∂x
∂r

∂x
∂ϕ

∂x
∂z

∂y
∂r

∂y
∂ϕ

∂y
∂z

∂z
∂r

∂z
∂ϕ

∂z
∂z


 = det




cos(ϕ) −r sin(ϕ) 0
sin(ϕ) r cos(ϕ) 0

0 0 1




= r

1


